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--. -

hdl9 i4J 2 5 0 0 2 5 0 1 2502 2503 2504

hipd(h 311LrjU) 5 8 12 15 20____..__.  -.-.----~____._--

9 = 12 + 3.7x (x hhilld  1 a)
.

~_I.~.- -------.- .--.-.- ~-_-

iJ 2500 250'1 2502 2503 2504 2505_~__-_..---..-- ___--___ -_--- -

Iflah(,6lW~~Lm~) 5 8 12 15 20 25
- - - - - . . - - - - - .
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2505 2506 2507

&lWtKllWlU~~~J~l~?d 12,000 ¶JlM 12,720 WM 13,440 lml

6niLha~ 1,000 ¶JlM 1,060 IJlW 1,120 UlW

nu~;aA6iudon"l 720 UlM
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“09 = 1,000  + (60 x 4) = 1,240

Y .A*’ 3 = 1240
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(1) 0 = 12+6X / (2) 0 = 1 + 0.5x

(3) 0 = 12 + .5x (4) 0 = 144 +6X

(5) 0 = 144 + .5x

2. Ol~FOWd  4FJ  1. hJ3~I~~d~tJU~Fl  Origin kfJI.CUl;i  1 flUQWlU 1957 tlUblmd0~

ru"adA.-

(1) t?  = 12 + 6X (2) 9 = 288 + 72X

(3) 0 = 216 + 72X (4) 9 = 144 - 72X

(5) i3  = 72 + 72X

3 . nl4196lPdaPd~sdAlaon~~~ji~~  1950 - 1956

(w'ut%uma61)

i?J  1950 1951 1952 1953 1954 1955 1956

cnut?whl~fl 10.1 14.9 15.0 15.7 15 15.4 18.9

(1) 0.98 (2) 15 (3) 4 (4) 7 (5) 5.5

4. o1nFow6Co  3. osd1u~m~l~l b

(1) 0.98 (2) 15 (3) 4 (4) 7 (5) 5.5,

5. Qlfl~?lVl%fl3. tlUrll~~l&SisatTl~~flfJd~fl  0 = a + bX LgOpd?t?-

(1) 0 = 0.98 + 15x (2) 0 = 0.98 + 4 x

(3) i: = 0.98 f 7x (4) 0 = 0.98 + 5.5x

(5) 9 = 15 + .98X
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6. OIfihlt%u’o  9. QW~~WJ~~J‘U~~~ 1953
‘\

‘.\ (1) (2) (3)0.98 15.7 4 (4)  (5)15 7‘.
A, \,7.  3.OIfih%~  $i~~“Id&W@Idfl dh%d 1 fWIQlfl.3~  1956 ~=~UW&%JU~~“.-

‘;‘.yq  0 = 45.98 + 15x (2) 9 = 12.98 + 4X

(3) + = 21.98 + 7X (4) 9 = 17.48 + 5.5X

(5) 0 = 17.94 + .98X

9 .

10.

11.

12.

13.

298

FRfJ?ifh6Qk+fJ  (Semiaverage)

(1) - 1.6 (2) 1.6 (3) 13.3 (4) ,- 13.2 (5) 16.4

TJlfl~TlVld~0~3.  66aE:dtl  8. tNdIU~tliHldl  b F@tJ?&%6Qdf~  (Semiaverage)

(1) - 1.6 (2) 1.6 (3) 13.2 (4) - 13.2 (5)‘0.78

o1fhBCo  3. amI%uuaFhJ  &m&l  au”uu?~.-

(1) 0 = -1.6 + 13.2X (2) 0 = 1.6 + 13.2X

(3) q = 16.4 + 1.6X (4) 0 = -13.2 + 1.6X

(5) 0 = 13.3 + 0.78X

aumraauaFd~Jvosa~~~~~6~~~~~6~~  0 =  10  +  ilk -5X2  ~Wh6=ih  1 9 5 5  - 1 9 5 6

X hdXI  l/2  fl 6di&U~“T?Id”~~6~U~  1955 ?n”6fh.-

(1) 0  = 6 + 21X + 5X2 (2) 0 = -6 + 21X - 5X2

(3) $ = 16 + X - 5X2 (4) 0 = 26 +21X+5X2

(5) 0 = 16 + X + 5X2

Y

(1) Y = 12 + 6X (2) Y = 1 + 0.5x

(3) Y = 12 + 0.5x (4) Y = 144 + 6X

(5) Y = 144 + .5x
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(1) 72,000 ‘UlVl  (2) 75,600 WI91  (3) 90,000 IJIW

(4) 108,000 ¶JlM  (5) 94,800 unl

(1) 6,000 U’IM (2) 7,500 IIIM  (3) 7,525 UlM

(4) 72,000 jJlW  (5) 90,000 ¶JlW

(1) Y = 4.8 + 576X (2) Y = 48 + 57.6X

‘ (3) Y = 48 + .576X (4) Y = 4.8 + 57.6X

(5) Y = .48 + .576X

(1) Y = 4.8 + .576X

(3) Y = 48 + .576X

(5) Y = .48 + .576X

1. (3)
3 . (2)

5. (5)

7. (5)

9. (5)

11. (2)

13. (3)

15. (5)

17. (3)

(2) Y = 48 + 57.6X

(4) Y = 4.8 + 57.6X

2. (5)

4. (1)

6. (4)

8. (3)

10. (5)

12. (3)

14. (2)

16. (2)
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